S5 (2023) FE FREBIER FRIEEENER

MIFE =W IFER RRBETHF>0—-2X

INam X B

Plig

(EEEHIH]

FERH D 2 L THDPLVTLZE N,

FCAR )X RS 8 AL, MRS TR, & E M 4 T

ho ) DERDD o756, BN ZHER L. BRENDIIEF LTIV,
FRBERR TS RTIT, B OB/ S ZHLAL TS W,

B PEESHMEIRD EZ R WX I ICHERL T E W,

IR, MREAU T & & HMUR EORAAIEF B IR 5 20T L7230,

ANl R



FRCHERS AR =it LA =i LARIACSKE 7 A > a— 2

: ] R A

fEEE 1 (30 =)

ARSI TAFHD TEAGR Y 2o DHMRTY, UTORENE L {FHA T, fd BRIZEZXRI WV,

GREXZ. EFYODER L FEA.)




S5 (2023) R ARIEEALER Zi LA R LR REE T A v a—2X

- e A
N (S0P 5% 3HKE)

(1) BERE Tohd TAFH) OEBOAETHZ) tHD ETH, FEI TAHFHOEH LI RKEDZ L 2RRTWE 1 ICEE
LT, FREE 400 FLIMIZEH L2 XV, (10 &)
(2) TAFHDEE 2TART 2 7-DICRRADBAEZTRENIIONT, EAEFIZZEITOD, HHDEX % 800 FRETHRRL IV, (20 &)



S5 (2023) FFEE “ARUEETIER 0 TR TERARREE 7 A > a—2X

- e A
N D5 4HE)

BEE 2 (30 =)

Read the following text written by Danny Hillis, and answer the questions based on your reading of the text in English.

*Underlined words are explained in the notes.

(K : Danny Hillis, The Millennium Clock Danny Hillis, WIRED Z{EY)D7-E&E L £ A.)
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Notes

slam: ZUCEETe; slip stream: FiIAICETHETOEHR THRAET 2 ZXIEFLOA; millennium: F4; Mbytes: X H 34 F OFLEAR; per dollar: 1 FHi:
D; soar up: M %; asymptote: WA, singularity: FMiFIRFEL; beam: #; geothermal: HIZA®D; diffusion: ¥L#K; tidal: #D; entrepreneurial: &
F¥EZXD; muse: E T 5; Rorschach test: B—L> ¥ v NT A, 4 Y7 ORRADRZFH H0EIREZHEE T 2 0HME; sequoias: £ 2 A 7; bristlecone
pines: 7'V v 2L — %4 > D —F; corrosion: fEE; The Dead Sea Scrolls: 3EifEXE; doom: D1} %; corollary: #E3#; Su Sung: JLREFRICKET
BaRE T AY; Ugbar: RANZD/NIIIH T 38220 E; mystical: M FEFEAIZ; acorn: YA

Question 1 (15 &)
(a) What does the author want to build? (5 &)
(b) Explain one idea mentioned in the text by one of his friends to build his millennium clock. (5 )

(c) What is one possible challenge of keeping the clock to last for 10,000 years? (5 %)

Question 2 (15 )
(a) Name something that you would like to exist for the next 10,000 years. (3 f)

(b) Provide three reasons for your answer in (a). (12 &)
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